(BIHE 1)

(A3 ) FE HyE)IXIZ 1T 2 M s s & i & = 4 Bh &

0l

T 3 R A 3R

( E@éﬁ%fﬂfﬁ%@ ) hik=

1 SEhi T EFEL NGBV EMERE & (BAAT: )
b — ki = * = ro TR
5530 - 1 |BHARICARDIEFE S5 620,000 620,000 620,000
i | 2 $iA%E)ﬂé<¢é£ﬁ§b 35,720 35,720 26,790
28 [R5 - PHIR S HUEME 2 D15 S # = 120,000 120,000 90,000
3 %afﬁm/ 85,600 85,600 64,200
. 4 T3 T A1 A —Hr AT I ED LD B bR AL 271 36,350 36,350 27,262
ES ;fj@ 5 |MEFEOT ainbahz < 11,750 11,750 8,812
ﬁ 6 | EiEnBIELE 20,500 20,500 15,375
b 7 | TSI ARCS Ay /e ki R A G~ OB R 3 552,600 552,600 414,450
iE 8 | B —b AIE B kBt B 2 R 574,000 574,000 430,500
?g 0 | lihE At RIS E) (P IR ) 270,100 270,100 202,575
o | fEAE [ 10 | S e 167,900 167,900 125,925
E 11 |WDENEHE 192,600 192,600 144,450
] 12 | Mtk i i A i g 3 324,000 324,000 243,000
3 pra———y
N1 13 [WEWEHE - { kA 45,000 45,000 33,750
iy 14 [fEFED HDHEN 24,790 24,790 18,592
15 (V2 B e BR B i =2 300,000 300,000 225,000
BRBE | 16 [Hus e b SRTE S 35,750 35,750 26,812
17 |HEE B VDTS T PHEIE ) | 20,000 20,000 15,000
Sefke | 18 | A MEEE)#E 100,000 100,000 75,000
AR=I 19 |7V—=RoTF o 7 RS 17,600 17,600 13,200
20 |[ZEEOHRTFE | BT =A% 238,600 215,000 161,250
21 |k Ikt HOX R 252,500 252,500 189,375
22 | HE) 1 XN AMERESE HEE 3 80,000 80,000 60,000
Z o 23 | B 124,228 124,228 93,171
24 | NMERETH 51,700 51,700 38,775
25 IR - TR AT I E DV 0 0 0
26 |V HIIEE DY 98,800 98,800 74,100
27 |h—IL AU PR 74,200 74,200 55,650
S 4,474,288 4,450,688 3,493,014
(1) FAN=TyRwoF T 77 N HER S (1)
(2) IEEVE MBS A G 3,493,014 [
2 EEFHME
=g ek | 891,295 H] SbalibhagE 873,253




